November Daily Tasks Days 22 - 28
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Change the subject of the formula below to Q.

3p = 5Q2%+8
4
Calculate the size of the side AB below.
C
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Find the point of intersection of the two lines shown below.
y
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3x -2y =10

The graph with equation y = ax? + b is shown below. State the values of a and b.
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Two employees each earn £24 500 per year.

Amy negotiates a pay rise of 3.4% per year for each of the next 4 years.

Julie settled for a pay rise of 4.5% for the next two years and 2.1% for each of
the next 3 years.

Which employee got the better pay rise and by how much?

A function has equation f(x) = 3x — 11.If f(p) = 31, find the value of p.

Solve the equation
3tanx° =5, 0°< x < 360°



